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The figures in the margin indicate full marks
for the questions.

Q. No.1 ' 1 mark each 1><8A = 8
Q. No. 2 ‘ 2 marks each ' 2x5 = 10
Q. Nos. 3-7 . 73 marks each 3x5= 15
Q. Nos. 8-14 5 marks each 5x7 = 35
Q. Nos. 15-18 8 marks eacl; 8x4 = 32
Total =100
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Answer the following questions as directed : 1x8=8

Feste emofm Rt v e
(@) s the set A={x|x<x} a null set ?

.A={x|x<x} uﬂ?’i‘{ﬁ%%ﬁ@ﬂiﬁ%?

Sx 10
(b) If =0
5.4 , find x.
Isx 10|
Im Gig =0,xﬁ‘1‘§3¥.§1|

(c) What is the difference between permutation and combination ?

R0 @ eI ~idy e
(d) The marks scored by 7 students are —
7 T QIR TEE ZE — |
40, 42, 38, 45, 50, 52, 55
Find Median.
g Fefa |

‘(e) Write True or False :
IR/ S LTI TA) I

AM. £ G.M. £ H.M.
AL WY < SEEa T < QWS Y7 |

(f) What 1s the S.D. of two values 8 and 4 ?
8 R} 4-47 e [Rpfea wW Fie

(g9 What do you mean by combination ?
RAIPT TECe F @I 2

(h) Fill in the blank :
XATEA el T 3

AN(BUC)=(ANB) ___ (Anc)‘
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Answer the following questions in brief : 2x5=10
Roste oo siewest Tea e @

(@) Distinguish between {0}, ¢ and {4}.
{0}, ¢ @R {g )97 Ay Rew @i

(b) Find ‘r, if *"Cy: "C, =44:3,
‘v Ry @, w® Gy "C,=44:3

(c) In what time will Rs.2100 amount to Rs.2835 at 10% p.a. S.I.?
TS WA AGTRSE 10% & M 2100 B (U 2835 Bl A2

(d) Using the property of determinant, prove that

0:.735
-3 0 2{=o0.
~5.--2"-9

Aefaree «of g 3@ oy @ @,

0O 3 5
-3 0 2{=01
-5 -2 0

(e) Mention two advantages and fwo disadvantages of A.M.

e TR g6 R4 @8 e SeiRdl T R |

The difference in simple interest on Rs.1450 at 5% p.a. and on
Rs.1250 at the same rate for the same time is Rs.135. Find the.
time. ‘ 3
AT 5% @ TR 1450 BIFF A& T QAR TN 0 G/ T I &4

1250 SRR el a7y 135 Sl | A e

Find ‘n’ and ‘7, if — T 33
‘' G R e e e, T —

"p =1680, "C, =70-
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S (W)

show that (omlte (1)

(AUBY = A°NB° 3
6. If (3IW)
[ 7 B4
A= 3
8 0 -
B= 9
6 -1 2]’
find (R =) |
| OR / &2

Find x’ and ‘y/, if
‘X’ @R ‘Y- A [ e,

g1 P e e :

7. Calculate mean deviation from mean from the given data - 3
fFrae stam Ay g e o1 [pfe Rdr am e
6,9, 12, 15, 18

8. A man deposits Rs.1200 in a bank at the end of each year @ 5%
p.a. C.I. What would be his deposit after 15 years p 5
(Given (1-:05)15 = 2:0789)

AT (AR D IUH AT AL (0 ASHERS 5% 5% 0 1200 Bt wr
402, 15 e 74 Wi GRl 47 T gAY (6Tl ¥IE (1:05)15 = 2:0789)
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Q.

10.

11.

12;

A certamn sum of mmu\ al a certain rate compounded annually

amount to Rs.8820 in 2 years and Rs.9261 in 3 years. Find the

rate of mterest and the principal, 5

A R @ AR e v o 2 aea 8820 Bt R 3 494 9261
‘v\.«ﬁ W W OR e [

Draw the graph of : (any one) | S
N WER WA 3 (@ @A GF:h)
i) xX+2y-2020
- 3x+y-12<0
1) 3y-2x<6
xX+y>95
x+2y>4
y<4.

9
cofsella
In the expansion (xz —;) , the term free from x is 5376. Find the

value of ‘a’. ' | , S

. .
(x2 —%] Regra xR W = 53761 ‘@~ T Fefa e

In a meeting, after everyone had shaken hands with everyone else,
it was found that 105 handshakes were exchanged. How many
persons were present at the meeting ? S

G35 ASH 2TIE AT A IAW IR 24 (7l (A (7, 105 IR ITWA

7Tz | ACrS Gt e wvoem fea e -
OR / 23

A box contains 6 white, 4 red and 7 green balls: In how many ways

can you draw — S

(i) 4 white and 3 red
(iij 3 balls of the same colour ?

GF5 2 6 51, 4 16wt @ 7 1 71 381 S| T ol 9f BRes o —
() 4 %A e 3 6 #1@ 3=
(i) 3 6 «was qrea a@?

32T BMST (BENG) (5] Contd.




http://www.elearninginfo.in

3.1 QAR) f(x)= %% 4 7x 412
find f(A)
[ f(A)-= 3w fefy @zt |
when (339)
1 2 1
A=|0 1 -1
3 -1 .1
OR | 523!

Solve using Cramer’s Rule : | ' 3

(TR T ARZR S T4 0 8
3x+y+2z=3
2x-3y-z=-3
xX+2y+z=4

14. If (3W)
A={1,23,4} |
B={2,4,6,8} :
C={3,4,56} LA ;
prove that (W9 1 @) ; 33 :
AU(BNC)=(AUB)N(AUC). ' -’ 5;
OR / 524 ;

In a class of 50 students, 24 students have taken Adv, Maths, 16;
have taken Adv. Maths but not Geography. Find the no. of students |

who have taken both Adv. Maths and Geography. 5 .
@t T 50 T FA-RaR W 24 T THaie Frag, 16 o UwaiRe e R
Saig! mﬁlmﬂﬁ—m\wﬁfﬂiﬁﬁﬂ@ﬁm @t (5 Y-y eyt ey Tl | | j

15. (a) The A.M. and H.M. of two numbers are 10 and 6-4 respectively. |
Find the numbers and their G.M. 4 ‘

g6 AR FAGA A IR RS TG I 10 msmwemqﬁam
i ored A e @
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(h) \f‘ind the maedian of the l‘nllnwh\'p‘ dintin
BN g N e e 8
Class
@l 8
Frequency
v ¢

101200 201300 301400 401-500 501-600 601-700

~
-

10 15 O 3 2

Calculate standard deviation and coefficient ol variation from the
following data @ 4+4=8

RIS WY (U NAREbEA WAL e aeiw el e @

Class (¥)) : 0-6  6-12  12-18 18-24 24-30 30-36
Frequency (N « 12 24 38 52 34 19

(@ A bag contains 10 white, 6 red, 4 black and 7 blue balls. 5
balls are drawn randomly. What is the probability that 2 of
them are red and 1 is black ? 4
ol afties 10 B s, 6 © e, 4 © wiwen «ag 7 © N 9w wig) oR
g 5 1 e s A weEciEeIE et a2 B @ gk 1 @i
TE QG JVO ¢ °

(b)) What is the probability that a leap year selected at random
will contain 53 Sundays ? 4
HRRSIE A GG @l @b el 53 B afam sieni
RASIRIS IRACRY

OR / @
State the mathematical definition of probability. What are its
limitations ? ‘ " 4
Feryer AR el @ g srRaef B e
18. (a) What are the different types of correlation ? 2
| o fafen swef N e

(b)  Calculate Karl Pearson’s correlation coefficient from the
following data : 6
Rt ol (e e PRpleR w7rTE o [ wa s
xs o2 6 8 10 14 16 20
y: 1 3 4 S 7 8 10

- X
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